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Figure S5: The power of SKAT-O in Europeans under various e↵ect size models, as a function
of the fraction of the variance in the phenotype explained by the test sequence, with the
weights of SKAT-O adjusted to be �[0.5, 0.5]. The dashed lines show the power when the
e↵ect sizes are taken to be proportional to log10(x) for alleles at frequency x and �[1, 25],
while the solid lines (A,B,D,E) and bars (C,F) show results from our model and the adjusted
weight distribution (see Methods). Panels C and F aggregate data from the other panels,
but specifically for variance explained equal to 0.05. The accelerated growth model of [26] is
shown in blue, and growth model of [25] in red. (Abbreviations: EUR, European continental
group; ve, variance explained).
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Figure S6: Precision-recall curves of SKAT-O for a mock exome sequencing study with rare
shifted weights (�[0.5, 0.5]). The dashed lines, which correspond to log10(x) e↵ects, used the
default weights (�[1, 25]). The sample size for these simulations was 103. (Abbreviations:
EUR, European continental group)
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